Efficiency vs Dxy(PV)
0.5

0.45]
o 0.4
20.35

vs dxy(PV)

efficien:
R o
w

o
N
Ul
LR LRy ) L LRl LR L) LN LRy LaL

Ratio

0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_noFit2_step2_ttbar-phasel-newgeom

—— DQM_Fit2_step2_ttbar-phasel-newgeom

—— DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
| Efficienc] —— DQM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom

1.2

[y

0.8]

efficiency vs dxy(PV)

0.6}

Ratio

*%)B806-04-02 0 02 04 06 08
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

s 1 T T

g [ : :

¥ I : :

| CERTRE Batennes e areenaaas

> B . .

> T : :

o o . .

5 osf- O O LEREEE T I e

L [ . .

E T : :

@ o . .
0.6 reenes AR (i penees
0.4F- [RL EPPETPRE Y A feeees
0.2f--- e el R

: ;
0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 - -
o L . .
¥ : :
Y 1 . .
> . .
> N H
o . .
508t
15} F . .
= r N H
) r . .
o.6f Seeeeans Seeeenns eeeeans
04-_ ....... I J: ..... ..
02t -ee - 3ot - SRR SREY T PERPE
P i i
o 1B 4
T
o
| S ECEERE S B N S SR R PR °
0.95
-1 -0.5 0

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


